
Simultaneous approximation of multi-criteria submodular
function maximization
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���� ����� � ��	
�� ��
 X � ��
 2X �� �
� �	��� ��
� � ��
 �
��
�	� f : 2X → R

�� �	�����
��� �� f(A) ≥ 0� ∀A ⊆ X � �
 �� ��������� �� f(A) = f(X − A)� ∀A ⊆ X � 	� ������
f(A) = f(A) �������� 
�� ��	
�� ��
 �� 	���	
�� �
 �� �	
���	
�� ��

f(A) + f(B) ≥ f(A ∪B) + f(A ∩B), ∀A,B ⊆ X.

��
 fj : 2
X → R

+ �j = 1, . . . , k� �� k �	����
��� �
��	�
��� �
��
�	��� ��� ���� �	�
� 	� 
���
�	�� �� 	� �� ���!��� �
�
���� �	�����
��� �
���	
��� �
��
�	��� ������� �	����� 
�� �	��	����
k"���
���� �
��	�
��� �
��
�	� �� ���!�
�	� ��	����#

(P ) : max
S⊆X

{f1(S), . . . , fk(S)}.

$	��
���� �� ���	 ���� 
	 ����� 
	 
�� j
� �j ∈ {1, . . . , k}� �	�	"���
���	� ��	����#

(Pj) : max
S⊆X

fj(S).
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k 2k−1

2k−1 max
{

1
k ,

2k−2

2k−1

}
% % 1∗

& 2
3 ≈ .6667 1

2 ≈ .5∗

; 4
7 ≈ .5714 1

3 ≈ .3333∗

= 8
15 ≈ .5333 185

674 ≈ .2745∗

, 16
31 ≈ .5161 8

31 ≈ .2581
> 32

63 ≈ .5079 16
63 ≈ .2540

. 64
127 ≈ .5039 32

127 ≈ .2520
* 128

255 ≈ .5020 64
255 ≈ .2510

2 256
511 ≈ .5010 128

511 ≈ .2505
%- 512

1023 ≈ .5005 256
1023 ≈ .2502
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�
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������ ��� ��
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�
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�
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�	��� 
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	 ��� �
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�
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�
	���� ���
���� �	� ��
� ������3��
�	��� 
�� ���
�
�	� 	� 	������� ��
� ��
	 ��
�
��� 	� D��	����
����
��D 	������
�	��� ��� � 
������ �������
�	�� �� �
������ ���������
� ��	�	����� ����
� ����
���
��� ���	���
�	� ��
������� ��	���	���
���� ������� ��������� ��
� ������� ��

��� ���	���
�	��
����� ��������� �
�� 4���� �
���	
� ��
�
����� ��
�	�� � �
 �� 
�� ��
���

��� �� �	�
� 	�� ��
�	�
����� 	� 
�� ������� ��	����� �� 
�� �������
 ��"���
�
�	� ����� 
�� ������� ��
�
��� ��� ��
	�
����� �� �	����� �� ������� ��	���� 	� � �	����
� ����� �
�� 
��
 ���� 	������
�	� �� �
�	��� ��	�� ��
� 
�� ���� �����
 ����� 
�� E��	������F 	� 
�� 	������
�	��� ����
��� 
�
���� ��
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���
���� ����
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	 ��� ���
���� ����
���� 
��� 
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���
�
� �����	��� �� 
��� �	�� ����
��
����� ���	���� ;�%";�&� ��� ������
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� �� 
�� �

 �
��
�	� ��
� �����
��� �
��	�
��� �
��
�	��

��� ����� ��� ������� ���	��� ����� ��� 
�	 � 
��
 ���
�
� 
��
 ��� ��	���� ����
�� 
	 	
�
�	��� ��� �	�
 �������
 �����	
� �	�� �� 
�� �����
 ���
�
 	� ���
������� ������� ��	���� ��
����� )&+� ����� �� � ������� �����
��� �
��	�
��� �
��
�	�� ���� ��	�� 
�� �	��	���� ���
�
� �	�

��� ��"���
���� ��	����# �%� 
���� � ��
� � 1

2 "��
�������
�� �	�

�	� ��� 
��� �� 
�� ���
 �	������:
�	������ �	 ���
�
���	
��� �	
���� ��
�������
�� �	�

�	� � ��
� �	� k ≥ 3: �&� 
���� � ��
� �√

5−1
2 ≈ 0.618"����	��!�� �	�

�	�� ��� �	 α"����	��!�� � ��
� �	� ��� α > 2

3 ≈ 0.667�

?
� �	�� ���� 
�����	�� ����
�� � 
���� 
�� ��	�� ���
�
� �� 
�	 �����
�	��# �%� �� �	������ ���
�
���� 	� ���
���� k ≥ 2: ��� �&� �� �	������ ��� �
��	�
��� �
��
�	� �������
��� 	� �����
�����
1
�
����	��� �� �����
 �	���7
����� 	� �	�� 	� 
�� ���
�
� 	�
����� �� 
��� �	��� �� ���	���� �������
	��� 7
��
�	�� ���
 
������� ���� 	
� ���
�
� ��� ��������!�� 
	 
�� ������� ��	�����

��	
��� ����
�� ���
�
 �� ����� �����
�� �� G���
�� �
 �� )*+ 	� ��������� �
��	�
��� �
��
�	��#

���� � ��
� �

(
1− e−1

)
"��
�������
�� �	�

�	� �	� ��� �
���� 	� �	�	
	��� �
��	�
��� �
��
�	��

��� �
 ��� �� �	
�� �� �	���	���� 
����

��
�� �	�� ����������� ���
�
� �� $��
�	� &� �� 3��
 �	������ 
�� � ��
���� ���
� �	� 
�� �����
���
��� ������
��� ����� �� $��
�	�� ; ��� =� ������
������ 4� 
��� ������
 
�� ���	��
���� �	�	�������
�� $��
�	� ,� 1������� �� ��	���� �	�� �	���
���� ������� �� $��
�	� >�

�� ������������� 4� ������
 �	�� 
���
� ���
� ����� ���� �� �����
��� �� 
�� �������� 	� 
��
� ��
���� ��� �	�"� ��
���� ���
�
� ��
�� 	��

��� ��
�� 	���	� ��� �������
� ���� ��� 4� ��
������ 
�� �	��	���� ��	���
��� �	� ��� �	�"
����
��� �
��	�
��� �
��
�	��

�	��� ��� ���	�� ���� f : 2X → R
+ �� ��� ����������� �	
���	
�� �	�������  ���� �!� ����

A,B ⊆ X� 
�� AΔB = (A\B) ∪ (B\A) 
� ��� ��������� ��"������� #���
f(AΔB) + f(B) + f(AΔB) + f(B) ≥ f(A) + f(A).

��


� A� 
�� �
��	�
����
� 	� f #

f(AΔB) + f(B) ≥ f((AΔB) ∩B) + f((AΔB) ∪B) = f(B −A) + f(A ∪B),

f(AΔB) + f(B) ≥ f((AΔB) ∩B) + f((AΔB) ∪B) = f(B −A) + f(A ∪B),

�������� 
��


f(AΔB) + f(B) + f(AΔB) + f(B) ≥ (f(B −A) + f(A ∪B)) + (f(B −A+ f(A ∪B))

≥ (f(∅) + f(A)) + (f(A) + f(X)) ≥ f(A) + f(A).
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�� ��	�� ����� 
	 
�� ���
�
 ���	� �	� �����
��� �
��	�
��� �
��
�	��

�	��� ��� ���	�� ���� f : 2X → R
+ �� ��� ����������� ��������� �	
���	
�� �	�������  ����

�!� ���� A,B ⊂ X� 
�� AΔB 
� ��� ��������� ��"������� #���

f(AΔB) + f(B) ≥ f(A).

��� ��
�� 	���	� ��� �����������
� ���� ��� 4� ��
�	�
�� �	�� �	
�
�	��� �	����
�	�� �	�
���� ������
�
�	�� G	������ � �	����
� ����� K2k ��
� ���
� ��
 Vk = {0, 1, . . . , 2k − 1}� H��
����
�� V ��� �������� ��
	 
�� k"�������	��� ����� R

k �
�� 
��
 ���� i ∈ Vk �� ���	���
�� ��
� 
��
��	�� ���
	� i = (i1, . . . , ik) ∈ R

k� ����� i� ∈ {0, 1} �	� � = 1, . . . , k� ��	��
�������� 
�� ���
���� ��
V ��� �� ������ �� 
�� �	����� 	� 
�� k"�������	��� ������
�� ���� 1��� % �	� �� ���
�
��
�	� ����
k = 3�� 1	� ��� ���
	�� �� ��3�� �
� %"�	�� || • ||1 �� 
�� �
� 	� �
� �		�����
�� �� 
�� ���
	��
1�	� �	� 	�� �� ���� 
�� �	������ ��

��� 
	 ��������
 ���
	��� 1	� � ������ ����� Vk� �� ���	
�
Vk = {i : i ∈ Vk} �� 
�� �	�����	����� ��
 	� ���
���� ��������
�� ��
� 
�� ���
	���

)1,0,0(:1 )1,0,1(:5

)1,1,0(:3 )1,1,1(:7

)0,0,0(:0 )0,0,1(:4 ),,(

)010(:2 )0,1,1(:6)0,1,0(:2 )0,1,1(:6

1��
�� %# ��	��
��� ��������
�
�	� 	� V3 = {0, 1, 2, 3, 4, 5, 6, 7} ��� 
�� �	�����	����� ��
 	� ���
	�"
��������
�� ���
���� V3 = {(0, 0, 0), (0, 0, 1), (0, 1, 0), (0, 1, 1), (1, 0, 0), (1, 0, 1), (1, 1, 0), (1, 1, 1)}

�	���� ��� �� �
��������� ��
��
����� !�� �� 
��$��� �� ��� ������ i = (i1, . . . , ik) �� ���� ���
����������� ��� 
� �
������ �� ��

�!�% ������ ���� ������� i ∈ Vk ��� 
� ��������� �� ��� 
�����
�	�
�� �������������� �$��� k������� 
� ������ 
������ ����� �� ����������� !���� ���� ��� 
� ���!��
�� � ������ !��� ���������� 
���� ��� 
����� ������ �� ������� i� ��� �����
�� !��� k = 3� i = 2 ∈ V3

��� 
� ��������� �� � 
����� �	�
�� 010� !���� ��� 
� ���!�� �� � ���!� ������ � = (i1, i2, i3) =
(0, 1, 0) ∈ R

3�

1	� ��� i, j ∈ Vk� �� ��3�� 
�� �	��	���
"���� �	�
�	 	����
�	�#

qij = i+ j (mod 2) = (i1 + j1 (mod 2), . . . , ik + jk (mod 2)) .



.

��
 Qk = {qij : i, j ∈ Vk}� ���� �� ���� 
�� �	��	���� ���
 ��	

 Qk�

��
� � Qk �� �� �	
����� ���������� �� 2
k ������ �� ���� �
����� ���� Vk�

��


� �
 �� ���� 
	 ��� 
��
 Vk �� ��	��� 
���� 
��� �	�
�	 	����
�	�� ������ �	� ���
i, j ∈ Vk� qij ∈ Vk� 6	��	���� ���� ������
 �� i ∈ Vk� ��
�� �	�
�� 	����
�	� ��
� 0� ���	��� 
	
Qk� ������	��� Qk �� �� �
�
���
 �	����
��� 	� 	��� ������
� ��	� Vk� 4� �	� ��	�� 
��
 ����
������
 	��
�� � ��
�� 2k 
����� ������� ��� ������
� �� Vk �� � ��7
����# π = (0, . . . ,2k − 1)�
1	� ��� i ∈ Vk� �	������ 
�� �	��	���� ��7
���� ������
�� ��
�� 
�� �	�
�	 	����
�	�# πi = (0+ i
(mod 2), . . . ,2k − 1+i (mod 2))� ���� �
 �� ���� 
	 ��� 
��
 πi �� � ����

�
�	� 	� π� ��� �	��	����
��/����
 iB� ���� ������
� ��/����
 ����

�
�	��� �������� 
�� ������� �
�
������
� ���
�
 ����� 
����
��� 2k �
�� ��/����
 iB� �� Vk�

�

�� ! ������
 �	����	��� �	�
����� 4� ��	���� � �	����
� ������
���!�
�	� �	� �	
� ��"

�������
�� ��� ����	��!�� ����� �	� 
�� �����
��� �
��	�
��� �
��
�	�� �� $��
�	�� ;�% ��� ;�&�
������
������

��� "������
� ��� �����������
� �� ������������
 ���	���� 4� �	������ 
�� ��"���
����
��	���� 3��
� ��� 
��� ��	� 
��
� �� �� � ������ �	 ���
�
���	
��� �	
���� ��
�������
�� �	�

�	�
� ��
� �	� 
���� ��� �	�� ���
�����

��	
�	� ��� ���	�� ���� ����� ��� �!� ��������� ����
�� k = 2� ��� ���	�� ��� �	
���	
��
�	������� �� ���

�� ��� ��� ����������� ��� ���������� #��� !� ����%

��� ��� ��� �������� �� ���

�� ���� ����� ������ � 1
2 �������������� ��
	���� ��� ��� ���

�� ����

���� &�������� ����� ����� �!� ����������� ��� ��������� �	
���	
�� �	������� �	�� ���� �� α�
������������� ��
	���� ������ �	�� ���� α > 1

2 �

��


� �%� ��
 A1 ��� A2 �� 
�� 	�
���� �	�

�	�� �	� 
�� 
�	 �	�	"���
���	� ��	����� (P1)
��� (P2)� ������
������ 4� �	��
�
�
 
�� ������� ��
�������
�� �	�

�	� A �� �	��	��#

A =

⎧⎪⎨
⎪⎩
A1, �� 2f2(A1) ≥ f2(A2);

A2, �� 2f1(A2) ≥ f1(A1);

A1ΔA2, 	
�������.

5�����
��� �� 	�
��� � 1
2 "��
�������
�� �	�

�	� �� 
�� 3��
 ����� ��� � 1

2 "��
�������
�� �	�

�	�
�� 
�� ���	�� ����� �� 
�� 
���� ����� �� ���� 2f2(A1) < f2(A2) ��� 2f1(A2) < f1(A1)� 
	��
���
��
� ����� &�& ��	� $��
�	� &�%� �������� 
��
� �	� 
�� 3��
 	�'��
����

f1(A1ΔA2) + f1(A2) ≥ f1(A1),

	� �7
������
��

f1(A1ΔA2) ≥ f1(A1)− f1(A2) ≥ f1(A1)− 1

2
f1(A1) =

1

2
f1(A1).



*

����	�	
���� �	� 
�� ���	�� 	�'��
���� �� ��� ��	��

f2(A1ΔA2) ≥ 1

2
f2(A2).

������	�� �� 
�� 
���� ���� �� 	�
��� � 1
2 "��
�������
�� �	�

�	��

�&� �	 ��	�� 
�� �	�"� ��
���� ���
�
�� �� �	������ 
�� �

 �
��
�	� �� 
������
�� ������ ���
�	��	���� � ����� ���	��� 
	 )&+� G	������ 
�� �	����
� ����� K3 �� 1��
�� &���� ��� 	�
���� �


���
� �	� �	
� 	�'��
���� ��� 
�	 ����� �	 �������� �

 ��� ���
�� �
���
�� ��

�� 
��� 	�� 	� �	
�
	�'��
����� �

1	� �	�� 
��� 
�	 ���
���� ������ k ≥ 3�� 
�� �	��	���� � ������ �� � 
����	� 	� 
�� ��	�� � ��"
���� ��	�� 
��
 �� ������� �	 ���
�
���	
��� �	
���� ��
�������
�� �	�

�	� � ��
� �	� �����
���
�
��	�
��� �
��
�	���

������	 ��� �I��	
���� ��
�������
�� �	�

�	� �	� 
�� �����
��� ���� ���� k ≥ 3� �������� ���
������� ���

�� �� �� 	��������� ���
� ����� Ck = (1, . . . , k)� !���� �	� �	������� ��� ���������
��� �	
���	
��� #�� !������ ��� ����� k �������� ��� �����'�� 
� � k�����������
 ������� ������
����������
� !����� ������ ei (i = 1, . . . , k� �� ��� k ������ !���� ei �� ��� �

����� ������ ������ ��
��� i�� ���������� �(�� ���	�� )�
� ��� ��� ���� �� k = 3�� #�� �����	� �	� ��
	� ��� ���� ���������
�� ��� !��
� ��� ������������� �	� �������� ���� �� �� 
���� ��� ����������� #�	�� �� ���	
�����	�
�

�	���� ������������� ��
	���� �������

)0,1()1,0(

)11( )1,1(

)0,0,1(1e)1,0,0(3e

)010( )0,1,0(2e

��� ��	 ���
����. ��� ����� ���
����.
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�� &# 8	�"� ��
���� � ����� �	� 
�� �����
��� �����

��� "������
� ��� �����������
� �� �������#�� ���	���� 1���
� �� ��	�� 
�� � ��
����
���
�
 �� ���	��� ;�&� ����� �� ���	��� ;�;� �� ��	�� 
��
 
�� ���
�
 �� ���	��� ;�& �� 
��
���
 �	������ ��� 
�� ������� ��	���� �� 
�� �

 �
��
�	� �� � ������� �����
��� �
��	�
���
�
��
�	�� ��� ������� ��� 3�� �
 ����3���� 
	 ����� 
	 
�� ���
�
��
��� � ������ �	� 
�� ���� 	�
k = 3 �� $��
�	�� ;�= ��� ;�, ����� ������� 
�� ��		�� 	� 
���� 
�	 
��	�����

��	
�	� ��� ���	�� ��� �	
���	
�� �	������� ��� ������������ ��������� ��� �	
���	
�� ��
���

�� ���� #��� ����� ������ �� α����������� ��
	���� �	�� ����

α =
2k−1

2k − 1
,

��� ���� *	������ ���������� �� +�, !��� k → ∞�



2

��


� ��
 A = {A1, . . . , Ak}� ����� ���� Aj �j = 1, . . . , k� �� 
�� 	�
���� �	�

�	� �	� 
��
�	�	"���
���	� ��	���� �Pj�� 4���	���� ���
�� 
�� 	�
���� 	�'��
��� ���
�� ��� ��� �7
�� 
	 	���
������ f�(A�) = 1 �� = 1, . . . , k�� 1	� ��� �	����
� �
���
 X = {Ai1 , . . . , Ai�} ⊆ A �1 ≤ i1 ≤
· · · ≤ i� ≤ k ��� 1 ≤ � ≤ k�� ��3�� 
�� �����
��� ��/������ �	�

�	�

Si1...i� = Ai1Δ · · ·ΔAi� .

��
 S �� 
�� ��
 	� ��� �
�� �����
��� ��/������ ��
� �	�����	����� 
	 
�� 2k − 1 �	����
� ��
� 	�
A ��� 	���	
��� |S| = 2k − 1� ��� ������� ����	��!�� �	�

�	� S �� 	�
����� �� �7
��"��	�����
�����
��� ��� 
�� ��
� �� S� ��� ������� � ���
�� ���
� 	� S �	��	�� ��	� 
�� �
��	�
����
� 	� fj
�j = 1, . . . , k� ��
�� ����	����
� ������� ��� ���������� 
�� ��	���
��� 	� �����
��� ��/������� 9
�

	 �����
��� �� 	��� ��	�� 
�� ������� ���
�
 �	� f1�

(2k − 1)E[f1(S)] =
n∑

i=1

f1(Si) +
∑

i,j : 1≤i<j≤n

f1(Sij)

+
∑

i,j,k : 1≤i<j<k≤n

f1(Sijk) + · · · + f1(S1...k).

��� 
��� Si1...i� ��	��� ��
������� 
��
 i1 = 1 ��� � ≥ 2� ��� �� �7
������
�� ���

�� �� Si1...i� =
A1ΔSi2...i� := A1ΔB� G	��������� 
�� ���� 	� �

� A1ΔB ��� B� ����� &�& ��	� $��
�	� &�%
������� 
��


f1(A1ΔB) + f1(B) ≥ f1(A1) = 1.

8	
� 
��
 �� ���� �� 
	
�� 2k−1 − 1 �
�� ������ 
	��
��� ��
� f1(A1) = 1� �������� 
�� �������
���
�


(2k − 1)E[f1(S)] ≥ 2k−1.

�

��	
�	� ��� ��� ��� k��������� ������� ���

��� ����� ������ �� �������� �	�� ���� �� β�
���������� ��
	���� ������ �	�� ���� β > α�

��


� G	������ 
�� �	����
� ����� K2k ��
� ���
� ��
 V ��	� $��
�	� &�&� 5��� ���� ����
�� �������� ��
� � �����
 ��	�� ���
	� �� Rk �
�� 
��
 �
� �
� �		�����
� �� 
�� �����
 �	� 
�� �
�
�	�	"���
���	� ��	����� 4� 
��� ��	� 
��
 �	� 
��� �����
�� �	����
� ������ �	 ����	� �	�

�	�
��� � ��
�	 �
���
�� ��

�� 
��� α ��
� ������
 
	 
�� �

 �
��
�	��

1	� ��� ���� (i, j) �
�� 
��
 i < j ∈ V � ��3�� 
�� �����
 ���
	� �	� ���� (i, j) �� �	��	��#

wij =
qij

||qij||1 .

8	
� 
��
 
�� �
� 	� �����
� ||wij||1 	� ���� ���� (i, j) �� �7
�� 
	 	��� �������� 
��
 
�� �� 
�

 ���
� �� K2k ��
� ������
 
	 
��
 �����
� �� �7
�� 
	 2k−12k−1 = 22(k−1)� ��
 S �� ��� ����	�
�

 �� 
��� �����
�� ������ ��� ���	
� E[�

j(S)] 
	 �� 
�� � ���
�� �

 ���
� 	� S �	� ���
���	�
�� ����

E

[
k∑

�=1

�

�(S)

]
≤ 22(k−1). �%�



%-

4� ���	
� 
�� ���
 	� 
�� ���
���
 
	 
�� ��		� 	� 
�� �� 
 ������

����� �� ��� �� �

 ���
� �	� ���� ���
���� �� �
 ����
 (2k − 1)2k−1/k�

���� ������ 
	��
��� ��
� �%�� ������� 
�� ������� ���
�


α ≤ 1

k

k∑
j=1

E[�

j(S)]

�

j(S∗)
=

1
kE

[
k∑

j=1

�

j(S)

]

�

j(S∗)
≤ 2k−12k−1/k

(2k − 1)2k−1/k
=

2k−1

2k − 1
.

4� ��	�� G���� % �	� 
�� �
� ���
���	� �� ���	��
��
��� � �

 (S�, S̄�) ��
� 
�� ���
� �7
�� 
	
(2k − 1)2k−1/k �� �	��	��#

��� ���� ������ i ∈ V � i ∈ S� �" i� = 1� ���� ��� ��� ��� ���������� �� ��� ������������� ������ ��
����

5�����
�� |S�| = 2k−1� ��
 Q� �� 
�� ��
 	� ��� qij B� �
�� 
��
 qij = i+ j (mod 2) �	� ��� i ∈ S�

��� ��� j ∈ S̄�� 4� ���� 
�� �	��	���� ����� �	� Q� 
	 ����
��
� 
�� �

 ���
� 	� (S�, S̄�)�

����� �� Q� �� �� �
�
���
 �	����
��� 	� 2k−1 �	���� 	� ���
���
 ������
� ��	� S��

9
� 
	 �����
��� �� 	��� ��	�� G���� & �	� � = 1� ��
 V ′ = {0, 1, . . . , 2k−1 − 1}� ���� �	�
���� q′ ∈ V ′� q′ ∈ R

k−1� ��
 Q′ = {q′ij : q′
ij = i′ + j′ (mod 2), ∀i′, j′ ∈ V ′}� ���� Q′ �� � �
�
���


�	����
��� 	� 2k−1 �	���� 	� ���
���
 ������
� ��	� V ′ ��	� 1��
 ;�&� G���� & �	� �	��	�� �� �	
���

��
 �%� �	� ��� i′, j′ ∈ V ′� �� ��� 	�
��� �� i ∈ S� = S1 �� i = (1, i′) ∈ R

k ��� � j ∈ S̄� = S̄1 ��
j = (0, j′) ∈ R

k� ��� ���� ������ ��� �&� i+ j (mod 2) = (1, i′ + j′ (mod 2)�

4� �	� ����
��
� 
�� �

 ���
� �	� 
�� � ���
���	�#

∑
i∈S,j∈S̄

(wij)� =
∑
q∈Q�

q�

||q||1 = 2k−1
k∑

c=1

Cc−1
k−1

c
=

2k−1(2k − 1)

k
.

�� 
�� ��	��� 
�� ���	�� �7
���
� �	��	�� ��	� G���� & 
��
 ���� q ��� � �
�
������
� 	� 2k−1�
��� � ������ �	
�
��� ���
���
 
��
 
�� �
���� 	� ��/����
 q ∈ Q ��	�� �
� �		�����"

	� �� �7
�� 
	 	�� ��� 
�� �	�����	����� ���� �� �������� ���
� 1/c� �7
�� 
	 Cc−1

k−1� ������

|{q ∈ Q� : q� = 1, ||q||1 = c}}| = Cc−1
k−1�

�

��� $���� 8	
� 
��
 
�� ���
�
� �� ���	���� ;�& ��� ;�; ����	��@� 
��� 
�� ���
�
 �� )&+ �	�

�� ������� ��"���
���� �� ��
� �

 ��	����� 1���
� �	� 
�� 
���� �	
��� 	
� ���
�
 ��������!�� 
	

�� �����
���� �� ��
� �

 ��	���� ����� �� ����	��� �	
�� 2/3 ≈ 0.667 	��� (

√
5−1)/2 ≈ 0.618�

��� 
�� ��� �	
�� �� 
�� ���
 �	������ �	��������� 
�� �	��� �	
�� � ����� ����� �� )&+� ���
��

�� �	��� �	
�� �� ���	 � 
����� �� 
��� �	�� 
	 ��� �
���� 	� ���
����� ��� ����� ���������
�J���
����� 
�� ���� 	��� 7
��
�	� ���
 �� )&+ �$�� G	�	����� & �� $��
�	� ,�% �	� �	�� ��
������

��% &� ���	�������� �� �
� ����� �� �
����� ��� ��� k = 3 1	� ���	��� ;�&� ���� k = 3�
�� ����

S = {A1, A2, A3, A1ΔA2, A1ΔA3, A2ΔA3, A1ΔA2ΔA3}.



%%

�	 ��	�� �	� j = 1� 
��
 (2k−1)E[f1(S)] ≥ 2k−1� 	�� ���� k = 3� E[f1(S)] ≥ 4
7 � �� �	�� 
�� �	��	����

�����# (A1ΔA2, A2)� (A1ΔA3, A3)� ��� (A1ΔA2ΔA3, A2ΔA3)� ���� 
�� ������� ���7
���
� �	��	��
��	� 
�� �	��	���� ���
�
�#

f1(A1) = 1,

f1(A1ΔA2) + f1(A2) ≥ f1(A1) = 1,

f1(A1ΔA3) + f1(A3) ≥ f1(A1) = 1,

f1(A1ΔA2ΔA3) + f1(A2ΔA3) ≥ f1(A1) = 1,

����� 
�� 3��
 	�� �	��	�� ��	� 
�� ���
��
�	� 
��
 ��� 	�
���� 	�'��
��� ���
�� ��� 	��� ��� 
��
���
 
���� �	��	� ��	� ����� &�&�

��' &� ���	�������� �� �
� ����� �� �
����� ��� ��� k = 3 1	� ���	��� ;�;� ���� k = 3�
����� & ��	�� 
�� ���
�
� ��	� 
�� �	�
�� 	����
�	�# qij = i+ j (mod 2)� ��	�� ��
� ���� �����
�

���� �� ����� ;�

qij - % & ; = , > .
�-�-�-� �-�-�%� �-�%�-� �-�%�%� �%�-�-� �%�-�%� �%�%�-� �%�%�%�

- �-�-�-� " �-�-�%� �-�%�-� �-�%�%� �%�-�-� �%�-�%� �%�%�-� �%�%�%�
% �-�-�%� " �-�%�%� �-�%�-� �%�-�%� �%�-�-� �%�%�%� �%�%�-�
& �-�%�-� " �-�-�%� �%�%�-� �%�%�%� �%�-�-� �%�-�%�
; �-�%�%� " �%�%�%� �%�%�-� �%�-�%� �%�-�-�
= �%�-�-� " �-�-�%� �-�%�-� �-�%�%�
, �%�-�%� " �-�%�%� �-�%�-�
> �%�%�-� " �-�-�%�
. �%�%�%� "

����� &# 6	�
�� 	����
�	� 	� V3 �� ���	��� ;�&

wij - % & ; = , > .
�-�-�-� �-�-�%� �-�%�-� �-�%�%� �%�-�-� �%�-�%� �%�%�-� �%�%�%�

- �-�-�-� " �-�-�%� �-�%�-�
(
0, 1

2 ,
1
2

)
�%�-�-�

(
1
2 , 0,

1
2

) (
1
2 ,

1
2 , 0

) (
1
3 ,

1
3 ,

1
3

)
% �-�-�%� "

(
0, 1

2 ,
1
2

)
�-�%�-�

(
1
2 , 0,

1
2

)
�%�-�-�

(
1
3 ,

1
3 ,

1
3

) (
1
2 ,

1
2 , 0

)
& �-�%�-� " �-�-�%�

(
1
2 ,

1
2 , 0

) (
1
3 ,

1
3 ,

1
3

)
�%�-�-�

(
1
2 , 0,

1
2

)
; �-�%�%� "

(
1
3 ,

1
3 ,

1
3

) (
1
2 ,

1
2 , 0

) (
1
2 , 0,

1
2

)
�%�-�-�

= �%�-�-� " �-�-�%� �-�%�-�
(
0, 12 ,

1
2

)
, �%�-�%� "

(
0, 1

2 ,
1
2

)
�-�%�-�

> �%�%�-� " �-�-�%�
. �%�%�%� "

����� ;# 5��� �����
� ������� ��	� ����� &

$���� 
�� 
�� �
� 	� �����
� 	� ���� ���� �� 	�� ������ ;�� �� ��	� 
��
 
�� �� �

 ���
� ��K2k

��
� ������
 
	 
��
 �����
� �� �7
�� 
	 2k−12k−1 = 22(k−1)� ����� �� �7
�� 
	 %> ���� k = 3� ���
������� ���
�
 �	��	�� �� 
�� �� �

 ���
� �	� ���� ���
���� �� �
 ����
 (2k−1)2k−1/k� ����� �� 28/3 �	�



%&

k = 3� 8	
� 
��
 S = {4, 5, 6, 7} �	� 
�� 3��
 ���
���	�� {2, 3, 6, 7} �	� 
�� ���	��� ��� T = {1, 3, 5, 7}
�	� 
�� 
���� ��� �
�� �

�� ������
�� ������
����� �� {100, 101, 110, 111}� {010, 011, 110, 111}� ���
{001, 011, 101, 111}� ����� = ���
�
��
�� G���� &�

q′
ij - % & ; qij - % & ;

�-�-� �-�%� �%�-� �%�%� �-�-�-� �-�-�%� �-�%�-� �-�%�%�
- �-�-� �-�-� �-�%� �%�-� �%�%� = �%�-�-� �%�-�-� �%�-�%� �%�%�-� �%�%�%�
% �-�%� �-�%� �-�-� �%�%� �%�-� =⇒ , �%�-�%� �%�-�%� �%�-�-� �%�%�%� �%�%�-�
& �%�-� �%�-� �%�%� �-�-� �-�%� > �%�%�-� �%�%�-� �%�%�%� �%�-�-� �%�-�%�
; �%�%� �%�%� �%�-� �-�%� �-�-� . �%�%�%� �%�%�%� �%�%�-� �%�-�%� �%�-�-�

����� =# 6	�
�� 	����
�	� 	� V ′
2 ����
� ��� 
�� ���
�
��
 6	�
�� 	����
�	� 	� V3 �����
� �� 
��

��		� 	� G���� & �	� 
�� 3��
 ���
���	� �� ���	��� ;�;

%� &� ������
 �	����	��� �	�
����� 4� �	������ ��
�������
�� ��� ����	��!�� ����� �	�

�� ������
��� �
��	�
��� �
��
�	���

%�� "������
� ��� �����������
� �� ������������
 ���	���� ��� �	��	���� � ����� ��	��

��
 �� �������� �	 ���
�
���	
��� �	
���� ��
�������
�� �	�

�	� � ��
� �	� ������
��� �
��	�
���
�
��
�	�� ���� k ≥ 2�

������	 ��� �I��	
���� ��
�������
�� �	�

�	� �	� ������
��� ���� �	� ��� k ≥ 2� �������� ���
������� ���

�� �� � �������� ���
� ����� Ck = (1, . . . , k)� !���� �	� �	������� ��� ����������
��� �	
���	
��� ������ ����������
� !����� ������ ei (i = 1, . . . , k� �� ��� k ������ !���� ei �� ���
�

����� ������ ������ �� ��� i�� ����������� #�� �����	� �	� ��
	� ��� ���� ��������� �� ��� !��
�
��� ������������� �	� �������� ���� �� �� 
���� ��� ����������� #�	�� �� ���	
�����	�
� 
�	����
������������� ��
	���� �������

%�� "������
� ��� �����������
� �� �������#�� ���	���� ��� ���	��
�� 
��
 ������
��		�� ��� 
�� k 	�
���� �	�

�	�� �	� 
�� �	�	"���
���	� ��	����� 	/��� �

(
1
k , . . . ,

1
k

)
"����	��!��

�	�

�	� �	� ��� �	�����
��� ��
 �
��
�	�� ��� 
�� �	��	���� � ����� ��	�� 
��
 
��� ��� 
�� ���

�	������ �	� k ≤ 3�

������	 ��� ��� k = 2� �������� ��� �!� ����� ������ !��� �!� ���� ����� �� �������� ����������

��!��� ����� -�� !��� !����� (1, 0) ��� ������� (0, 1)� ��� k = 3� �������� ��� �������� ���
� C3

!��� !������ (1, 0, 0)� (0, 1, 0) ��� (0, 0, 1)�

��� ��	�� ������ ����	� ���	��
�� ���� �	
 	/�� 
� 
�� ���
 �	
�� �	� k ≥ 4� �� ��	�� �� 
��

��	��� ���	��

��	
�	� ��� ���	�� ��� �	
���	
�� �	������� ��� ����������� ��� �	
���	
�� �� ���

�� ����
#��� ����� ������ �� α����������� ��
	���� �	�� ����

α =
2k−2

2k − 1
,

��� ���� *	������ ���������� �� +�), !��� k → ∞�
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��


� ��
 A = {A1, . . . , Ak} �� 
�� �� ��
� �

 �	� ��	���� �(�� 4���	���� ���
�� 
��
	�
���� �

 ���
�� ��� ��� �7
�� 
	 	��� 1	� ��� �	����
� �
���
 X = {Ai1 , . . . , Ai�} ⊆ A �1 ≤
i1 ≤ · · · ≤ i� ≤ k ��� 1 ≤ � ≤ k�� �� ��3�� 
�� �����
��� ��/������ �

 ��	�� ��
� �
� �	�������
{

Si1...i� = Ai1Δ · · ·ΔAi� ,

Si1...i� = Ai1Δ · · ·ΔAi� .

�� 
	
�� �� ���� 2(2k − 1) �
�� �����
��� ��/������ �

� �	�����	����� 
	 
�� 2k − 1 �	����
�
��
� 	� A ��� 
���� �	�������
�� ��� ������� ����	��!�� �

 S �� 	�
����� �� �7
��"��	�����
�����
��� 
���� 2(2k − 1) �

�� ��� ������� � ���
�� ���
� 	� S �	��	�� ��	� 
�� �
��	�
����
� 	�
fj �j = 1, . . . , k� ��
�� ����	����
� ������� ��� ���������� 
�� ��	���
��� 	� �����
��� ��/�������
9
� 
	 �����
��� �� 	��� ��	�� 
�� ������� ���
�
 �	� f1�

(2k − 1)E[f1(S)] =
n∑

i=1

(f1(Si) + f1(Si)) +
∑

i,j : 1≤i<j≤n

(f1(Sij) + f1(Sij))

+
∑

i,j,k : 1≤i<j<k≤n

(f1(Sijk) + f1(Sijk)) + · · · + (f1(S1...n) + f1(S1...k)).

��� 
���� Si1...i� ��� Si1...i� ��	��� ��
������� 
��
 i1 = 1 ��� � ≥ 2� ��� �� �7
������
�� ���

��
�� Si1...i� = A1ΔSi2...i� := A1ΔB� ��� Si1...i� = A1ΔB� ������
������ G	��������� 
�� ���� 	� �

�
A1ΔB ��� B� ��� 
�� ���� 	� �

� A1ΔB ��� B� ����� &�% ��	� $��
�	� &�% ������� 
��


f1(A1ΔB) + f1(B) + f1(A1ΔB) + f1(B) ≥ f1(A1) + f1(A1) ≥ 1.
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 �� ���� �� 
	
�� 2k−1 − 1 �
�� ������ 
	��
��� ��
� f1(A1) + f1(A1) ≥ 1� �������� 
��
������� ���
�


2(2k − 1)E[f1(S)] ≥ 2k−1.
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��� �	��	��� ��
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'�� ��� ����������� �������
� ��� ������������
 ���	���� 4� 	��� �	������ 
�� ��"
���
���� �����
��� ���� �� 
���� �� �	 ���
�
���	
��� �	
���� ��
�������
�� �	�

�	� �	� �����
���
���� ��
� �	�� 
���� 	�'��
���� ��� 
�� ������
��� ����� ���	��� ;�% ������� 
��
 
���� � "
��
� � �	���	���� 
��� ���	��
�� ����� ��� 3�� �� α

2 "��
�������
�� �	�

�	� �� ������� ��� �����
α"����	 ���
�	� ���	��
�� �	� 
�� �	�	"���
���	� ��	����� �� ���
��
���� 
���� 
�� ���
�"	�����
�	���� 
�� ���
 �	������ ���	��
�� �	� �����
��� �
��	�
��� �� ���!�
�	� ��� �� ����	 ���
�	�
��
�	 1

2 �)%%+�� �������� 
��
#

(������� � .� ��� 
���������� ��������� �	
���	
�� ������������ ���

��� ���	�� ���� ��� �	
�
���	
�� �	������ �� ����� 	���� ��� ����
� ����
� #��� ����� ������ � ��
������
����� �
�������
!���� ��� '�� � 1

4 �������������� ��
	�����

4���� ��
 ��

�� �	
�� �� 
�� �
��	�
��� �
��
�	� �� ����� 
���� �
�����
 ��������
�
�	�� �����

�� �
��	�
��� �
��
�	�� ������ 	��� 	� � �	��
��
 �
���� 	� 	� ������
�� �
�� �� 
�� �

 �
��
�	�



%=

�� ����� ��� ������������ �� ���
��
���� �	� 
�� ��"���
���� �����
�� �� "�

 ��	����� �
 ���
������� ��	��� �� )&+ 
��
 
���� � ��
� � �	���	����"
��� ���	��
�� ����� ��� 3�� � (0.439, 0.439)"
��
�������
�� �	�

�	� �� ������� 
�� 0.879"����	 ���
�	� ���	��
�� �� �	����� ��� 4�������	�
)%;+�

'�� ��� ����������� �������
� ��� �������#�� ���	���� �
 �� ����"��	�� 
��
 
�� ���"
�	��!�� ���	��
�� ����� �7
�"��	����� �����
� 	� ��'��
� ��� ����� ������
 ��
	 
�� �	�

�	� �� �
1
2 "����	 ���
�	� ���	��
�� �	� 
�� �	�	"���
���	� �����
��� �
��	�
��� �
��
�	� �� ���!�
�	�
��	���� ��� � 1

4 "����	 ���
�	� �	� 
�� ������
��� ����� 6	��	���� 
�� 1
2 "����	 ���
�	� ����	


�� ����	��� 
���� 
�� ���
� 	����� �	��� �)%%+��

�
 �� �	
 ��J�
�
 
	 ��� 
��
� �	� 
�� �
�
�"���
���� ��	����� 
�� ���� ������ ����	��!�� ���	��
��
������ �

(
1
2 , . . . ,

1
2

)
"����	��!�� �	�

�	� �	� 
�� �����
��� ���� ��� � 1

4 "����	��!�� �	�

�	� �	�
������
��� �����
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�� � ��
���� ���
�
� ��	��� ���� ����	
 ����� ��

�� �	
��� 
��� 
�� ��	�����
�	���
������ ����	� ���	��
�� 
���� 
�� 	����� �	���� A

 �
 ��� 	/�� ��

�� �	
��� 
���� 
�� �	������
��������
�
�	� �	��� �	� ������� k� �� ���
��
���� �	� 
�� �����
��� ����� ���	��� ;�& 
	��
���
��
� 
�� -�*.2"����	 ���
�	� ���	��
�� �� )%;+ ����� 
��


(������� � ��� ��� k��������� ������� ���

��� ����� ������ � ��
������
����� �
������� !����
��� '�� � 0.5860����������� ��
	���� ��� k = 2� ��� � 0.5023����������� ��
	���� ��� k = 3�

��� ���
 �	
�� ��

���� �������� �J���
����� 
�� 	��� 7
��
�	� �	�
�� �� )&+ �	� 
���� ���
����#
E��� ��������� �� � ��
������
 ���� ���������� �
������� ���� ��� � ����������� ����� ������
� 
�����
���� 1

2 ��� ����� ��� ���� �������� �� �����F�

1	� 
�� ������
��� ����� ���	��� =�% 
	��
��� ��
� 
�� 0.874"����	 ���
�	� ���	��
�� �� )%-�
%>+ ����� 
��


(������� � ��� ��� k��������� ���������� ���

��� ����� ������ � ��
������
����� �
�������
!���� ��� '�� � 0.2913����������� ��
	���� ��� k = 2�

)� (��
�	���� ������� �� 	���	
� 	��� 7
��
�	� ���
 ���� �� 
	 3�� 
�� 
���
 ����	��!��
��
�	 �	� 
�� ������
��� �
��	�
��� �
��
�	� ���� k ≥ 4� �	 	/�� � 
��
� 	� �	� ����������� 
���
	��� 7
��
�	� ����
 ��� �� ���	�
 � 
���
 ���
�
 �	� 
�� ������� 4"���
���� ���������� ��	����#

• 
���� � ��
� � 185
674 ≈ 0.27448"����	��!�� �	�

�	� �	� 
�� ="���
���� ���������� ��	�����

��� 
��� �	
�� �� 
���
 �� ��	�� �� 
�� ���
���� �� 1�� ;�

���� �� ��	��� ��
� 
�� ��� 	� ����	��� ����
��
�	� ��� 6���� ��� 6�
��� ��� 
�� ���� �	�� �	��
	

 	� ���	�� �	� k ≥ 5�
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�� ���
 �	
�� 0.27448 ������� 
��
 ������� �	
�� ������� �	� ��� ������
��� �
�"
�	�
��� �
��
�	� �� ���	��� =�% �� �	
 
���
� �� �
 	��� 	/��� max{ 1

4 ,
4
15} ≈ 0.2667� ������	�� 	��

�	������ 3��
 �
�� �� ���	����� 
�� ��	�����
�	��� 	��� 7
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	 3�� �
�� � 
���
 �	
�� �	�

�� ������� �����
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 �
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